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Chain Rule without Equations

Use the values in the table below to answer the following:

x| Jx) [ gkx) [ AG) | X)) | gx) | HEx) | ()
o] o© 1 2 | -1 4 | -5 0
1] 3 2 1 3 2 | 4] 4
2] 1 0o [ 3 ] =2 3 2 1
3] .2 3 0 4 2 | 3 2

L. Determine if y = f(x)g(x) has a horizontal tangent at x =1.

\_'1_‘:: 52
g's qo ey s FOIATD '

Lj'(l_‘): (-j(t\ C?f,"}a .{‘-L\\'c}l‘fl‘}
2 o203)% ¢3)-2) 2O Y bl y(N=C

2. Determine if y = h(g(x))1s increasing or decreasing at x =3.
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3. Find the equation of the tangent line to y = f(g(x))at x=2.
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4. Find o'(1) if u(x) =Jh(x)+3. ) 5
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5.If y = (f(x))* , find y"(1).
Ej'r-' 2 {:(*} ¢ {:Ick) .
\j” = ﬁ,‘(&.:-)- 2;'(5') - ?_F(\t\j £ () % LJ“C‘}: | &~ 2
[ ".““ 1‘\ = -"t:!
y" (= ey LED 4 2F0D ( -
y'ed= 3 2 (3) + 2(HCH)
6. Find the slope of y:i(-? at x=2.
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7. Find «'(4) for u(x) = h(x/x)
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